4 SHITEERERR

(1) —H=Et
(B4 E5HH)
% A % H
B H FHIFLE (A IRAFEE B)| (B)/(A) (%) |HERLE (%) ¥ B FHIAEE (C)| X HiF%EE (D)| (D)/(C) (%) R (%)
1 e 5917 5,951 100.6 24.4 13 = = 207 203 98.1 0.9
2 K E 5 i 179 194 108.4 0.8 2 % 7 2,363 2,019 85.4 8.8
3F F A X T £ 4 4 100.0 0.0 3 R 4 = 6,424 6,167 96.0 26.7
4/ & B X F £ 20 21 105.0 0.1 4 4 = 5,482 5,277 96.3 22.9
5 (XEFEFFIXRMHE 9 13 144.4 0.1 SEMKERXRE 1,026 874 85.2 3.8
65 HERIMTE 761 761 100.0 3.1 6 & T & 400 386 96.5 1.7
T VIBHMABRK TS 6 6 100.0 0.0 7 PN & 3,065 2,083 68.0 9.0
SEBERSFBRX £ 27 27 100.0 0.1 8 H 7] =1 898 866 96.4 3.8
9 BEREREREMHEIRE 9 8 88.9 0.1 9 % B =4 3,175 2,964 93.4 12.8
10# 5 % #l X F & 42 65 154.8 03| |10 K & % IH & 248 79 31.9 0.3
nmi A x #F B 6,934 6,978 100.6 286 | [11 & &® =1 1,853 1,851 99.9 8.0
12 RBERENRHFINX T2 3 3 100.0 00| |123 X H £ 306 304 99.3 1.3
BRrEEsRUTAaAaED 49 46 93.9 02| |13 % i & 25 0 0.0 0.0
4 E AR FHH 445 425 95.5 1.7
15 E X H £ 3,536 3,000 84.8 123
16 & * s & 1,426 1,364 95.7 5.6
17 B4 I3 IR A 58 60 103.4 0.2
18 & fF s 140 139 99.3 0.6
19 #& A & 1,454 1,331 91.5 5.4
20 #& 4 id 837 837 100.0 3.4
21 § ) A 649 660 101.7 2.7
22 i 2,967 2,523 85.0 10.3
m A& &t 25472 24,416 95.9 100.0 A = 25,472 23,073 90.6 100.0

(KB TFESO)




(2) mHROAR (3) —MEEFHEERIREWK R (BER)
(B ®AM) (BEhr-BAH)
F B FHEBLEN REHE |WARe/w®| BEE® g B F B ROBH g ¥ OB Ot %
1 B ) 2,606 2,607 100.0 4338 1T A =3 - 2,762 12.0
- 2,659 2,681 100.8 45.1 2 Y % & 2,599 1.3
3B B B #H M 133 133 100.0 2.2 I - 283 1.2
4 - I 2 R 332 342 103.0 5.7 4 % Bh & 3,864 16.8
5 A B ) 22 21 95.5 0.4 5% B B % 4,577 19.8
6 # ™ F B 165 167 101.2 2.8 6% & M & B 4,298 18.7
&it (1~6) 5917 5,951 100.6 100.0 ) EBRREXE 4216 18.3
X BERBERRKRER 877 903 103.0 100.0 @ # B 1,920 8.3
Q@ B ¥ 2,154 9.3
O mHENEIBER VMK HEE (B FH) @F O 142 0.6
FR1AZYOTTFEIEEE 143 (2) KEEIBEXE 82 0.4
—fE Ly OB & 350 7 2 & & 1,851 8.0
FER1AZYDM B %R 555 8 & ir & 304 1.3
—iHEHYDI B HEE 1,356 9 H = & 76 0.3
(X £EIF. SFNE0B1BRAEDEEIAO - HEKTE--10) 10 & 1 & 308 1.3
11 #2 H & 2,151 9.3
O ERERREHOAIEERVZHEE (B FH) & =t 23.073 100.0
HWREZFIALSYDOERTTEIEE 93
—iHFELHYVDERAEEE 140
WREEIALYDZ EEE 487 (4) BHR<iEt
e N XAy =P]
—HEIYOXHE 736 = i % FHIMMBA) | RARTEG)| & HRAREC) lbzlka‘é(B)/(i\;ﬁ;nﬁg(c)i\))
(X £EIX. FH2F9IA0BBRANOEREERER-BEMA EREREGRKRE X 4812 4,684 4,599 97.3 95.6
HEHTE-=3D) XK B B OB O 7 7 7 100.0 100.0
N F oKk E EE 593 561 537 94.6 90.6
(%] BEEEBHEKEE 122 123 119 100.8 97.5
EEAD 41,602 A, HES 1701118 (2461081 BIRE) + % R KR = £ 4,183 4,235 4113 101.2 98.3
ERERERBREES 9451 A ($F2498308R %) % aE mE E R 505 502 493 99.4 97.6
EEEEERENA 6,247 (SF24E9H308IRE) & &t 10,222 10,112 9,868 98.9 96.5




(6) NEEXEF

DHTFEDREKT (B4 EHAM) RHTFEDOEERR (B4 BHHM)
X% ruwg | ST | mwwe | X4 ruwg | ST | mwwe |

g X I # 1,114 139 2,848 4,101 2 X I # 1,026 128 2,836 3,990

Wle = 5 ax 2 147 11 527 685 Wla o oaoaw % 111 11 526 648

R Al B F & 2 0 0 2| [B|x|% B # % 2 0 0 2

% Hi 1,263 150 3,375 4,788| | 2% &t (a) 1,139 139 3,362 4,640

2 X & A 860 178 3,260 4,298 5t E %X & H 827 169 3,193 4,189

miﬁiﬂﬁﬁﬁ 55 10 67 132 Bl 2928 55 8 149 212

HlE B B % 0 0 43 B |[Fleles o B % 0 0 43 43

Hi 915 188 3,370 4473| | = it (b) 882 177 3,385 4,444

g e : P 1; 622 3 2 623 LEAMFI2E (a) — (b) 257 A 38 A 23 196

Iz —ReHEES 8 0 0 8 - B T & &E 9,597 767 6,054 16,418

) T 688 % 19 0 0 19 ElR B A E 854 293 577 1,724

ﬁkﬂﬁ%%*ﬁﬁi}ﬁ 0 0 102 102 ﬁg?g%i E OB OE 0 0 0 0

* EEEETHNE 0 0 11 1| | g &t 10,451 1,060 6,631 18,142

Hi 650 0 113 763 | a B T & & 4,640 329 3,792 8,761

8 B & ®REA 1,081 0 107 1,188 sl B & & 333 32 659 1,024

S| EEEBEES 255 26 196 477 | B MEE 1,405 169 1,023 3497

—REARFE 0 0 0 of |&R|x|%E PN & 3114 352 3,027 6,493

=l P 0 0 10 10 g% B &= 2 959 178) A 2770 A 1633

&t 1,336 26 313 1,675 5 10,451 1,060 6,631 18,142




